ABX 0100 - ABE Math Week 6

Topics to review

e Commutative, associative, distributive, and identity property

Q) ()
Problem 1
Which expression is the same as the expression shown?
(1) axb =7 - 34M le+ers /variables Axb - multiplicarien
. i ol a-b
(A) b+a Same optration | Symbols ALb)
b o ovder doesnt chongt valué
%;—” oot choey ot 42312
(D) none of the above bXa =3x4 = 12
Check - “‘4',b= 3
(2) axbtaxc =7 0\(540) A+b = b+
(A) a+bxc
@ a(b+o) Axb: A | b=
(©) (artb)(a+c) _ o
(D) axb+c U\lb-a) 5-0)0\0
(atb)+( A*b =b*h a:=2:b
(3) a+(b+ e e Lo

(A} athxc | * Additien

(By-erthtey— +b+C
bre)ta = (atc)+h ~a

(C) (a+b)(a+c)

é(a—f—b)—{—c ( :’L'!'C')a\

(4) a(b+c) =? A*b¥+Q.C

@axb+axc

(B) a(b+c)
(C) (a+b)(a+c)
(D) (a+b)+c



https://youtu.be/mgw2JfwtT5E?t=11
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Aeb + AC =pp+ab = gca:bé;(__: b-q +c-o|== ab+a-C
35 +4-3 223+4+ §
Iy 4 12 b +94+S = )5
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Problem 2 X = =X

What number goes in the box to make the equation true? 7t~ 2

(A) 4 _ 35-X=2%

(B) 16 35-L1=ax3 .23 -2%

(C) 8 S-X=9x 35-X-2% = O

(D) 13 33; i(( - ; 3 ot +XA

(3% 35-2% = X
- -7 < =
Topics to review: > 7= X 8= X

e Multiplying fractions with whole numbers (only need to watch until 4:15)

Problem 3 1S~ =33/
2 ls Two-thirds of the chairs were donated. How many chairs were donated? )
-— O .
30 (A) 10 chairs h h h h h = bb/.
2 | (D) O chairs ARhRRR € Pleme prererd  olpy-152 10
3l (C) 12 chairs Hese ore chairs
3 (D) 9 chairs h h h h h 5
302 (0

3 Topics to review: é o _(} I ‘ chairs
e Finding patterns in numbers S
S IS = 4/5' & o{

Problem 4 '? S’

Look at the number pattern:

3,7, 15,31, 63,.. — — — 1022

T2 39 7T

ﬁ
What is the rule for the pattern?
(A) Multiply by 3 and then subtract 2 to get the next number in the

pattern.
~B3-Add=! to get the next number in the pattern.

@ Multiply by 2 and then add 1 to get the next number in the pattern.
(D) Add 5 and then subtract 1 to get the next number in the pattern.

(}h'l*-l =2an+| 2


https://www.youtube.com/watch?v=PKdQecXBaQo&ab_channel=TheOrganicChemistryTutor
https://www.khanacademy.org/math/cc-third-grade-math/arithmetic-patterns-and-problem-solving/imp-patterns-in-arithmetic/v/practice-finding-patterns-in-numbers
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Problem 5
The formula 2x + 7y shows the cost of x packs of index cards and y packs MuH.
of printer paper at Ollie’s Office Supply. Alexandra needs to buy 6 packs otaFion
of index cards and 4 packs of printer paper for her class. What is the ’\X \’ X#2

o ) ) x
total cost? 2X+ 7Y X: inolex , \{.Pave( Zx_l,?_y X"I X-2
(A) $43 ) lo 4 LX) LY) | X(Y) ¥2)
(B) $19 Y XN y2
(C) $50 2l0) + 34 = )
(D) $40 y=2

1z + 28 = 440

Topics to review:
e Slope-intercept equation from two points
e Worked example: slope from two points

e How to determine if a point lies on a line or not using the point and the
equation

Problem 6 %
The graph of a straight line is shown in the coordinate plane. Use the
graph to answer the question. The graph of the line continues. Which

point is also on the line? ?om-} on the
(s, 18) @ L24 , 24') plane (X, \’)

0 7,34 s s n i X
(b12) K=+l (m) % \/)
2 (rz,u.)—)Q&”) N +4 (viv) (30,28)
(b,12) and (2.0 4 por O (3!0, 52)
LY Y 4/

¥ roe, yahes,
:-hows


https://www.khanacademy.org/math/algebra/x2f8bb11595b61c86:forms-of-linear-equations/x2f8bb11595b61c86:writing-slope-intercept-equations/v/equation-of-a-line-3
https://www.khanacademy.org/math/algebra/x2f8bb11595b61c86:linear-equations-graphs/x2f8bb11595b61c86:slope/v/slope-of-a-line-2
https://www.youtube.com/watch?v=SUPRzFGYDs8&ab_channel=BrianMcLogan
https://www.youtube.com/watch?v=SUPRzFGYDs8&ab_channel=BrianMcLogan
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Y= 2x+ % (w,y) =(10,14.4)
3 oY)

Y'-%(lo) +& = 14.0



